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Compound interest

(चक्रवृधि ब्याज)

Concept Lecture – 2
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The compound interest on a certain sum for
2 years at 𝟏𝟓% per annum is ₹3,641, when
the interest is compounded 8 monthly. The
sum is:
जब ब्याज हर 𝟖 महीने कें बाद संयोजजत
होता है, तो ककसी ननजचित राशि पर वार्षिक
𝟏𝟓% की दर से 𝟐 वषों में प्राप्त िक्रवदृ्धि
ब्याज ₹3,641 है,| राशि ज्ञात करें |
a) ₹9,000 b) ₹9,600
c) ₹11,000 d) ₹10,000

SSC MTS, 5 Oct 2021, S2



What is the difference between the
compound interest (in ₹) compounded
yearly and compounded half yearly for 18
months at 𝟐𝟎% per annum on a sum of
₹12,000?
ब्याज की गणना वार्षिक और अद्िि-वार्षिक
िक्रवदृ्धि आिार पर की जाती है, तो प्रनत
वषि 𝟐𝟎% की दर पर, ₹12,000 की राशि पर
18 महीने में प्राप्त िक्रवदृ्धि ब्याज के बीि
अंतर (₹ में) ज्ञात करें|
a) 121 b) 132 c) 145 d) 165

SSC CGL 2020 Tier 1
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What is the compound interest earned on
𝑹𝒔𝟖𝟎, 𝟎𝟎𝟎 at 𝟒𝟎% per annum in 𝟏 year
compound quarterly?
नतमाही आिार पर 𝟏 वषि में प्रनत वषि 𝟒𝟎% की
दर से 𝟖𝟎, 𝟎𝟎𝟎 रुपयों पर आजजित िक्रर्िधि
ब्याज क्या है?
a) 𝟐𝟖𝟑𝟏𝟕 b) 𝟑𝟕𝟏𝟐𝟖 c) 𝟏𝟖𝟕𝟑𝟐 d) 𝟐𝟏𝟑𝟖𝟕

SSC CGL 2017 T-2
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A certain sum is deposited for 4 years at a
rate of 𝟏𝟎% per annum on compound
interest compounded annually. The
difference between the interest at the end
of 𝟐 years and that at the end of 𝟒 years is
₹𝟓, 𝟎𝟖𝟐. Find the sum 𝒊𝒏 ₹ .
कोई राशि वार्षिक रूप से िक्रर्िधि होने वाली
𝟏𝟎% वार्षिक ब्याज दर पर 𝟒 वषि के शलए
जमा की जाती है| 𝟐 वषि के अंत में और 𝟒
वषि के अंत में शमलने वाले ब्याज के बीि का
अंतर ₹𝟓, 𝟎𝟖𝟐 है| वह राशि ( ₹ में) ज्ञात
कीजजए|
a) 𝟐𝟎, 𝟎𝟎𝟎 b) 𝟐𝟓, 𝟓𝟎𝟎
c) 𝟓𝟎, 𝟖𝟐𝟎 d) 𝟏𝟎, 𝟏𝟔𝟒

SSC CGL T1, 11 Apr 2022 S1 
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What is the difference (in ₹) between
the simple interest and the compound

interest on a sum of ₹8000 for 𝟐
𝟐

𝟓

years at the rate of 𝟏𝟎% p.a., when
the interest is compounded yearly?
₹8000 की राशि पर 𝟏𝟎% वार्षिक दर
से 𝟐

𝟐

𝟓
वषि में प्राप्त सािारण ब्याज

और िक्रवदृ्धि ब्याज के बीि अंतर (₹
में) ज्ञात करें|
a) 𝟏𝟒𝟕. 𝟐𝟎 b) 𝟏𝟓𝟐. 𝟖𝟎
c) 155 d) 150

SSC CGL 2020 Tier 1



The simple interest on a certain sum for 3
years at 𝟏𝟐% p.a. is Rs. 6,750. What is the
compound interest (in Rs.) on the same
sum for 2 years at 𝟐𝟎% p.a., if interest is
compounded half-yearly? (Rounded off to
the nearest Rs.)
एक ननजचित िनराशि पर, 𝟏𝟐% वार्षिक
ब्याज र पर 3 वषों के सािारण ब्याज की
राशि 6,750 रु. है| उसी िनराशि पर, 𝟐𝟎%
वार्षिक ब्याज दर पर 2 वषों के िक्रवदृ्धि
ब्याज की राशि (रु. में) ककतनी होगी,
ब्याज अद्ििवार्षिक रूप से िक्रवदृ्धि ककया
जाता है? (ननकटतम रु. में पणूाांककत)
a) 8, 000 b) 8, 702
c) 7, 729 d) 6, 750

SSC CHSL 2020
7
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A sum of Rs 𝟐𝟎, 𝟎𝟎𝟎 is invested for 𝟏𝟓 months
at the interest of 𝟏𝟎% per annum compounded
half yearly. What is the percentage gain, correct
to one decimal place at the end of 𝟏𝟓 months?
Rs 𝟐𝟎, 𝟎𝟎𝟎 की राशि को 𝟏𝟓 महीने के शलए
𝟏𝟎% प्रनत वषि की दर से अद्ििवार्षिक संयोजजत
िक्रवदृ्धि ब्याज पर ननवेि ककया जाता है 𝟏𝟓
महीने के अंत मे प्रनतित लाभ ( दिमलव एक
अंक तक) क्या होगा?
a) 𝟏𝟐. 𝟓% b) 𝟏𝟑. 𝟔% c) 𝟏𝟑. 𝟎% d) 𝟏𝟑. 𝟒%

SSC CPO 2019
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A sum of Rs 𝟏𝟖, 𝟎𝟎𝟎 is invested for 𝟏𝟔
months at the interest of 𝟖% per annum
compounded half yearly. What is the
percentage gain, correct to one decimal
place at the end of 16 months?
Rs 𝟏𝟖, 𝟎𝟎𝟎 की राशि को 𝟏6 महीने के शलए
𝟖% प्रनत वषि की दर से अद्ििवार्षिक
संयोजजत िक्रवदृ्धि ब्याज पर ननवेि ककया
जाता है 𝟏6 महीने के अंत मे प्रनतित लाभ (
दिमलव एक अंक तक) क्या होगा?
a) 𝟗% b) 𝟏𝟎% c) 𝟏𝟏% d) 𝟏𝟐%

SSC CPO 2019
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A certain sum amounts to ₹29,282 in 4 years
at 𝟏𝟎% p.a. When the interest is
compounded yearly. What is the simple
interest (in ₹) on double of the sum for five
years’ time at the same rate?
कोई राशि 𝟏𝟎% वार्षिक ब्याज दर पर, ब्याज
की गणना वार्षिक आिार पर ककए जाने पर,
4 वषों में ₹29,282 हो जाती है। उसी राशि
को दोगुना करने पर, समान ब्याज दर से
पांि वषों में सािारण ब्याज (₹ में) ककतना
प्राप्त होगा?
a) 17,000 b) 20,000
c) 18,000 d) 21,500

SSC MTS, 14 Oct 2021, S1



The compound interest on Rs.𝟏𝟔𝟎𝟎𝟎 for 𝟗
months at 𝟐𝟎% per annum, interest being
compounded quarterly, is
𝟐𝟎% प्रनतवषि की दर पर 𝟗 महीने के शलए
𝟏𝟔𝟎𝟎𝟎 रु की िनराशि पर नतमाही िक्रवदृ्धि
ब्याज ज्ञात करे:
a) Rs.𝟐𝟓𝟐𝟎 b) Rs.𝟐𝟓𝟐𝟒
c) Rs.𝟐𝟓𝟐𝟐 d) Rs.𝟐𝟓𝟏𝟖

11



What will be the compound interest on a sum
of ₹𝟑𝟏, 𝟐𝟓𝟎 for 𝟐 years at 𝟏𝟐% p.a., if the
interest is compounded 𝟖-monthly?
₹𝟑𝟏, 𝟐𝟓𝟎 की िनरािी पर 𝟏𝟐% प्रनतवषि की दर
से 𝟐 वषि के शलए िक्रवदृ्ि ब्याज को 𝟖 −माह
के आिर पर संयोजजत ककया जाता है?
a) ₹𝟖, 𝟏𝟎𝟔 b) ₹𝟖, 𝟏𝟏𝟔
c) ₹𝟖, 𝟎𝟏𝟔 d) ₹𝟖, 𝟏𝟓𝟔

12SSC CGL 2018 T-2
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What is the compound interest (in ₹) on a sum

of ₹8192 for 𝟏
𝟏

𝟒
years at 𝟏𝟓% per annum. If

interest is compounded 5 – monthly?
यदद ब्याज की गणना 5-माशसक िक्रवदृ्धि
आिार पर होती है, तो प्रनत वषि 𝟏𝟓% की दर
से ₹8192 की राशि पर 𝟏

𝟏

𝟒
वषि में प्राप्त

िक्रवदृ्धि ब्याज (₹ में) ज्ञात करें|
a) 1735 b) 1634 c) 1640 d) 1740

SSC CGL 2020 Tier 1



There is a 𝟏𝟎𝟎% increase to an amount in
𝟖 years, at simple interest. Find the
compound interest of Rs.𝟖𝟎𝟎𝟎 after 𝟐 years
at the same rate of interest.
सािारण ब्याज पर 𝟖 साल में 𝟏𝟎𝟎% की
वदृ्धि होती है। उसी दर पर 2 वषि के बाद रु
𝟖𝟎𝟎𝟎 का िक्रवदृ्धि ब्याज ज्ञात कीजजए।
a) 𝟐𝟓𝟎𝟎 b) 𝟐𝟎𝟎𝟎
c) 𝟐𝟐𝟓𝟎 d) 𝟐𝟏𝟐𝟓

14
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The compound interest on a certain sum of
money for 𝟐 years at 𝟓% is Rs 𝟑𝟐𝟖, then the
sum is
ककसी राशि पर 𝟓% की दर से 𝟐 वषि का
िक्रवदृ्धि व्याज 𝟑𝟐𝟖 रु है| राशि पता करो|
a) Rs. 𝟑𝟎𝟎𝟎 b) Rs. 𝟑𝟔𝟎𝟎
c) Rs. 𝟑𝟐𝟎𝟎 d) Rs. 𝟑𝟒𝟎𝟎

SSC CGL 2013 T-2
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A man borrows money at 𝟑% per annum
interest payable yearly and lend it
immediately at 𝟓% interest (compound)
payable half-yearly and thereby gains Rs. 𝟑𝟑𝟎
at the end of the year. The sum borrowed is
एक व्यजक्त 𝟑% की वार्षिक दर से, जबकक
व्याज वार्षिक लगता हो, कुछ राशि उिार लेता
है और इस राशि को 𝟓% की दर से, जबकक
िक्रवदृ्धि व्याज नछमाही लगता हो, कही उिार
दे देता है और इस तरह वषि के अंत में 𝟑𝟑𝟎 रु
कमाता है| वह राशि पता करो|
a) Rs. 𝟏𝟕𝟎𝟎𝟎 b) Rs. 𝟏𝟔𝟓𝟎𝟎
c) Rs. 𝟏𝟓𝟎𝟎𝟎 d) Rs. 𝟏𝟔𝟎𝟎𝟎

SSC CGL 2013 T-2



Compound interest (compounded annually)
on a certain sum of money for 𝟐 years at
𝟒% per annum is Rs.𝟏𝟎𝟐 . The simple
interest on the same sum for the same rate
and for the same period will be:
𝟐 साल के शलए 𝟒% प्रनतवषि की दर से एक
ननजचित राशि पर िक्रवदृ्धि ब्याज (वार्षिक
िक्रवदृ्धि) 𝟏𝟎𝟐 रु है। समान दर और समान
अवधि के शलए समान राशि पर सािारण
ब्याज क्या होगा?
a) Rs.𝟗𝟗 b) Rs.𝟏𝟎𝟏
c) Rs.𝟏𝟎𝟎 d) Rs.𝟗𝟖

17



If the compound interest on a sum for 𝟐

years at 𝟏𝟐
𝟏

𝟐
% per annum is Rs.𝟓𝟏𝟎, the

simple interest on the same sum at the
same rate for the same period of time is:

यदद 𝟐 साल के शलए 𝟏𝟐
𝟏

𝟐
% प्रनतवषि की दर

से राशि पर िक्रवदृ्धि ब्याज 𝟓𝟏𝟎 रु है, तो
समान अवधि के शलए समान दर पर समान
मलूिन पर सािारण ब्याज क्या है?
a) 𝟒𝟎𝟎 b) 𝟒𝟖𝟎
c) 𝟒𝟓𝟎 d) 𝟒𝟔𝟎

18



The compound interest on a certain sum for
𝟐 years at 𝟑% per annum is Rs.𝟏𝟎𝟏. 𝟓𝟎, then
the simple interest on the same sum at the
same rate and for the same time will be?
𝟐 वषि के शलए 𝟑% प्रनतवषि पर एक ननजचित
राशि पर िक्रवदृ्धि ब्याज 𝟏𝟎𝟏. 𝟓𝟎 रु है, तो
उसी दर पर समान राशि पर और उसी समय
के शलए सािारण ब्याज क्या होगा?
a) 𝟗𝟎 b) 𝟗𝟓. 𝟓𝟎
c) 𝟏𝟎𝟎 d) 𝟗𝟖. 𝟐𝟓

19



Compound interest on a certain sum for

𝟑 years at 𝟏𝟔
𝟐

𝟑
% pa. is 𝑹𝒔. 𝟓𝟎𝟖𝟎, then

find C.I. of three years is how much

greater than the simple interest at the

same rate of interest for two years?

एक ननजचित िनराशि पर 𝟑 वषि में
𝟏𝟔

𝟐

𝟑
% की िक्रवदृ्धि ब्याज की दर से

𝟓𝟎𝟖𝟎 रुपए ब्याज के रूप में प्राप्त होता
है समान दर पर 𝟑 वषि में प्राप्त िक्रवदृ्धि
ब्याज और 𝟐 वषि में प्राप्त सािारण ब्याज
में ककतना अंतर क्या होगा?
a) 𝑹𝒔. 𝟐𝟐𝟎𝟎 b) 𝑹𝒔. 𝟐𝟖𝟖𝟎

c) 𝑹𝒔. 𝟕𝟔𝟎 d) 𝑹𝒔. 𝟏𝟓𝟐𝟎

20
CI (GP)  



The difference between C.I. of three years

and S.I. for two years on a certain sum is

𝑹𝒔. 𝟏𝟑𝟗. The rate of interest is 𝟐𝟐. 𝟐𝟐% then

find principal.

𝟑 वषि का िक्रवदृ्धि और 𝟐 वषि का सािारण
ब्याज में अंतर 𝟏𝟑𝟗रु है| िक्रवदृ्धि ब्याज की
वार्षिक दर 𝟐𝟐. 𝟐𝟐% हो तो मलूिन ज्ञात करें?
a) 𝑹𝒔. 𝟑𝟔𝟒. 𝟓 b) 𝑹𝒔. 𝟐𝟒𝟑

c) 𝑹𝒔. 𝟐𝟗𝟏. 𝟔𝟎 d) 𝑹𝒔. 𝟒𝟏𝟒. 𝟐

21
CI (GP)  



The compound interest (compounded annually)

at the certain rate on a certain principal for 𝟐

years is same as the simple interest at the same

rate for 𝟒. 𝟓 years on the same principal. Find

the rate of interest per annum.

𝟐 वषि के शलए एक ननजचित मलूिन पर
ननजचित प्राप्त िक्रवदृ्धि ब्याज (वार्षिक
संयोजजत), समान मलूिन समान दर से 𝟒. 𝟓 वषि
में प्राप्त सािारण ब्याज के समान है| प्रनतवषि
ब्याज की दर ज्ञात कीजजए|
a) 𝟑𝟎𝟎% b) 𝟐𝟓𝟎% c) 𝟐𝟎𝟎% d) 𝟐𝟐𝟓%

22
CI (GP)  



Two sums are in the ratio 𝟒 ∶ 𝟑. Both the sums

are lent at 𝟓% per annum and 𝟏𝟎% per annum

under compound interest for two years. The

difference between the interest at the end of

two years is 𝑹𝒔. 𝟏𝟓𝟒𝟎. What was the sum lent

at 𝟏𝟎% per annum?

दो राशियााँ 𝟒 ∶ 𝟑 के अनपुात में हैं। दोनों राशियों
को दो वषि के शलए िक्रवदृ्धि ब्याज के तहत
𝟓% प्रनत वषि और 𝟏𝟎% प्रनत वषि की दर से
उिार ददया जाता है। दो वषि के अंत में ब्याज
के बीि का अंतर 𝑹𝒔. 𝟏𝟓𝟒𝟎 है। 𝟏𝟎% प्रनत वषि
की दर से उिार दी गई राशि ककतनी थी?
a) 𝑹𝒔. 𝟏𝟔𝟎𝟎𝟎 b) 𝑹𝒔. 𝟐𝟏𝟎𝟎𝟎

c) 𝑹𝒔. 𝟏𝟓𝟎𝟎𝟎 d) 𝑹𝒔. 𝟐𝟖𝟎𝟎𝟎

23
RY (Advance level)  
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